SUPER MAXI 250 = pavgea

5
V| C € ENe0974-7
RoHS —_—
Technical data BASH »
9 /
Cooling A #7 Gas Cooled 5% 20
Duty cycle 60% ##%60% 250Amp CO, ,200Amp MIX P
Wire Size BR£EEZ ®0.8-1.2mm I
19
——l

/_ 16
1H‘ /
I T T T

1 ICS0673 MC0128 Gas Nozzle ®16 ;BiHE ©16

2 1CU0008-10 MD0003-10 Contacttip ® 1.0;FEH © 1.0

3 ICF0006 MEO0001 Gas diffuser ;4> &

4 1CZ0629 Torch head 45°; 4 31 45°

5 1CZ0628 Torch head 60°;#8 1 60°

6 ITY0072 AU0027 Gas Hose Nipple;## %

7 1CG0020 MT0070 Adjusting Block Kit Clamp;E fi

8 ICV0855-01 Handle; ¥

8.1 IHJ0672 Hanger for handle MAXI250 ® 16;MAXI ¥ F #£ #IMAXI250 ® 16
9 IHQ0070 BX0020 Trigger; &4t A 7 %

10 IFT0874 Screw 3.0x10;4#%2 3.0x10

11 IHJO777 BW0319 Joint with spring;# 38 & Bk 15

12 ICN0798 MH0243 Coaxial cable 3m;E #i4H 3m

13 IFT0897-01 EA0342 Spring cable Support; % #38 %&

14 IHJ0645 BW0195 Back box;FiLE

15 IFT0063 EA0018 Screw M4x6;4% 22 M4x6

16 IHJ0070 BW0020 Gun plug nut;#2 it §i & 42 £

17 ITB0038 AR0083 Central adaptor TW/Euro M12x1/Spring pins;# s ## 3k TW/Euro M12x1/3§ 14 &+
18 1270072 FA0027 Liner nut M11x1;i% £ & §1 X428 M11x1

19 11C0067-06 Steel line 3.0m 0.8-0.9mm; % £ & 3.0m 0.8-0.9mm
20 1ICG6007 Spanner for Pan torch; B RXi¢ A< AR F

21 1ICG6000 Spanner for MIG;MIG 1248 17 F

Complete Torch
ICT1715-36 MA6265 MIG MAXI 250 torch 3m with spring pins;/&#t MAXI 250/3m /3 4 &
ICT1711-36 MA6266 MIG MAXI 250 torch 4m with spring pins;/Z#t MAXI 250/4m /3 1% &
ICT1712-36 MA6267 MIG MAXI 250 torch 5m with spring pins;/&# MAXI 250/5m /3 14§t



